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1. ��K$�������������������������?��������H�
���A����	
�� 
 ����������8��
���������� �
!��"
��'��$}��*#���/���L������+&�'�%��" ���)���*#
��0"(9
& 10 °F ��� 9 ����� �
���������
*	
�
������ �	*)�����6������������8� �6
����
�������8�'���$}��*#��0"(9
&" ��!�)���/��)96��L����%��8��+%�� �����+&� F7#���
��L
'���$�*#)�	
�
�����������, �=��" �
���������� �
!��"
���������������
*	
�
�������
+�
�=���� !�)��&#
����'+�+6������L&+&�*#��)�����������8� 5 ������7��K$ '�%
*	
�
���
$�%
�0 70 % �*#��)�����������8� 8 ����� �
���������� �
!��"
��'�������������	
�

'���'�����
�
6�	
�
��� (��/&+��, 2544; ��
��0, 2545) !�)����*	
�
���
��������'�%
	
�
)�
)�����+ ��� ���������L&+&���
����������*#
*��)�����������8� 3 ����� ��=�"���
'" ����+ ��� �'��������������L&+&���%)%��*)
���	
�
�������
��������� 
 
2. �������������	
��
���������������
��$��!Ya������a� 
 ��������	
�
������(�
%/=������=�!�)K
6	
�	�
	
�
���� �=��" �
���������
� �
!��"
�����K� �4��%�����������6
�B�9C� �6
�������%���6
�B�9'� � �
���������K
6
��
��L���K�  ���#��/��
*	
�
�������&�� �)��&�K$ !�)
*	
�
�����"�����*)� 6.86 % 
���0%�*#���6
�B�9C��&�
*	
�
���� 11.40 % (+�����*# 19) ���#��/���6
�B�9'� � ����,
*
	
�
������
�����+#=��
6� 80 % �0%�*#��������
�	

*C�+�"���"��)
��'�%����,
*	
�
����
��
������9��
6� 90 % ((���*# 2) �6
���������!�)
*���	
�	�
	
�
����� 
)���	�

����+&� �=��" �
���������
*	
�
���K
6'+�+6������%"
6��B�9������
�����������������
	�0(�� �)6��K���+�
 �����������(��	
�	�
	
�
���� �
������������K� '+�+6�����+�

$�&
�0��=��*#�"  	�� ������%�*#�" ��=� 40 % ���	
�
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�
�����&� �
���������
*	
�
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�
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�
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�
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A�����?� 19 $�&
�0��=����&�"���������%�
���������� �
!��"
������������	
�
�����
       �(�
%/=������=� �*#
*'�%K
6
*���	
�	�
	
�
���� !�)�" ��=�$�&
�0+6����������
       ������6
�B�9C�'�%�6
�B�9'� � 
 

B�9��� ������ 
���	
�	�
 
	
�
���� 

�%�������" ��=� 
(% 	
�
/�	
�
�����&�) 

$�&
�0��=�	��"������&� (%) 

40 13.07e 

50 17.26c 
* 

60 21.17a 
���*���-2 

K
6
* 70 11.26f 

40 13.15e 

50 17.08c 
* 

60 20.96a 

�6
�B�9C� 

�&���* 2 

K
6
* 70 11.54f 

40 12.54e 

50 15.52d 
* 

60 19.98b 
���*���-2 

K
6
* 70 7.14g 

40 12.60e 

50 15.53d 
* 

60 19.98b 

�6
�B�9'� � 

�&���* 2 

K
6
* 70 6.59g 

F-test ∗∗ 

C.V. 4.65 

∗∗ = '+�+6���������L&+&�*#�%���	
�
���#�
�#� 99 %      
	6��4�*#)$�&
�0��=���	���
����*)
����*#
*���8�+6����� '+�+6���������L&+&�*#������ 
) DMRT 
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$���?� 2. $�&
�0��=�C�'�%	
�
������
������%"
6����������
�	
 �.,. 2548 '�% 

   �����
���	
 �.,. 2549 �������*#�=��(�"���"16 /��"
������� 
�*#
� : �L��*+�
/����,��8+�	�"��� (2548; 2549) 
  
3. ��������������������
�# �� 
 �
���������� �
!��"
��
*	
�
�����'$��+#=��
6�	
�
���
�+�|�� F*#�'+�+6�����
+�
���80%������ 	�0(������
��������� '�%$�&
�0����" ��=�  !�)���������*���-2 �
���������
�*#
*	
�
���
�+�|��
���
6� 86.5 % �7��K$ $�9���'$���*#�" ��=����
�� 
*	
�
��� 71.0 % 
�7��K$ (+�����*# 11) �
����������*#
*	
�
���
�+�|��� �)�
6� 77.5 % 
*	
�
�����'$��
��*)� 40.5 % �6
����$�9��*#�" ��=�	������*)
 + ���� �
����������*#
*	
�
���
�+�|�� 95.0 % 
�7��K$ /7�/%K� 	
�
�����'$�� 84.5 % �7��K$ �6
��
����������*#
*	
�
���
�+�|��+#=��
6� 
89.5 % K
6�"
�%�*#�� ���%$�9����(�
%'� � ���#��/���" 	
�
�����'$��+#=��
6� 59.5 % 
 �6
��������&���* 2 �
���������
*	
�
��
��L��������K� ��'$��K
6'+�+6�����
��
��� �%"
6��������%�*#�" ��=����
��'�%	������*)
���6
�B�9'� � !�)�
����������*#
*	
�
���

�+�|�� 70.5 % 
*	
�
�����'$�����(�
%'� � 50.0 % (+�����*# 12) �)6��K���+�
 ���
$�9����(���*#�" ��=����
�� �
����������*#
*	
�
���
�+�|�� 87.5 % �7��K$ /7��" 	
�
�����
'$��K�  77.5 % �7��K$ �6
����$�9����(�
%'� � 	
��� �
����������*#
*	
�
���
�+�|�� 
91.5 % �7��K$ /7�/%K� 	
�
�����'$�� 74.5 % �=�"��������  FEI ���#�$�%�
&�	
�
�����
'$������
���������� �
!��"
�� �6�/%�=�K� ��6���*)
����
���������L�#
�"���� (
&��) '�%	0%, 
2549; Egli and TeKrony, 1996) '+6+ ��'�6��$5��6
�+�
�%���	�0(������
��������� !�)
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�
����������*#
*	
�
���
�+�|��
���
6� 93.0 % �7��K$ 
* FEI $�%
�0 90.0 % �=�"������
$�9����(���*#�" ��=�K� ���
�� '�%$�%
�0 80 % �=�"������$�9���'$�����(�
%'� � �6
�
�
����������*#
*	
�
���
�+�|�����6
� 86.0-93.0 % 
* FEI 80.0-90.0 % ��'$���*#�" ��=����

�� '�%
* FEI   60.0-80.0 % ��'$���*#$�9����(�
%'� � !�)�
����������&���* 2 '������
�����'$��$�9�K� �*�
6��
������������*���-2 ���
����������*#�%���	
�
���
�+�|��      
70.0-80.0 % !�)
* FEI 70.0 % ��'$���*#�" ��=����
�� '�% 72.0 % ��'$�����(�
%'� � 
���0%�*#�
������������*���-2 
* FEI +#=��
6� 56.2 % ��K$ 
 
4. ������������������������������������������
�� �!��"�������! �I�
�
�$��#��� 
 ��������	
�
������(�
%/=������=�!�)
*���	
�	�
	
�
���� �*#�" >���� �	*)����
	
�
������(�
%'� � 	�� ������%���&��*#
*	
�
/�	
�
�����&� 40 % /=��
� 350 ���
 ��
+%�� ����� 12.0X23.5X6.0 F
. �" ��=� 40 % ���	
�
/�	
�
�����&� $�%�
&�>��*#��)� 7 
��
"������% ��
��L�� $�%�
&�	
�
�����'$�����(�
%'� �����
����������&���* 2 ���
	�0(������
���������K� ��B�9����*#+6����� '�%�4��%�
���������	�0(���9����������         
���*���-2 �*#
*	
�
���
�+�|��
���
6� 95.0 % '+6�
���������	�0(��+#=�������������*���-2 
)���" 	
�
����9��
6�	
�
�����'$��$�9� �)6��K���+�
L7�'
 
&�*��������6�
/%�" 	
�
���
K
6'+�+6���������L&+&���	
�
�����'$�����(�
%'� � '+6)���" 	
�
����9��
6���'$��
$�9����6
�B�9'� ����� �
!��"
��������������� F7#��" >����$�%�
&��9��
6�	
�
���/�&� 
!�)�4��%�
���������	�0(��+#=�������������*���-2 /7��6�/%
*���,7�8���&#
�+&
 !�)�" >����
$�%�
&�+#=��
6�	
�
�����'$����*)������ �) ���#��" 
�#��/
6�
*	
�
�����'$��K� K
6+#=��
6�
>����$�%�
&� F7#���/$���
&�*���K�  3 '�
��� 	�� 1) ��$�&
�0�&��" � �)�� 2) ��$�&
�0
����" ��=�+#=��
6� 40 % ���	
�
/�	
�
�����&� '�%/"��� 3) �� �&��*#
*	
�
/�	
�
����� �)�
6� 
40 % 




